
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Negative Exponenten von 10

374, 1 × 10 =(−4) 10 =(−1)

−3 × 10 =0 819, 5 ÷ 10 =(−4)

328, 7 × 10 =(−3) 121, 4 × 10 =2

461 ÷ 10 =(−3) 547, 5 ÷ 10 =(−1)

3 × 10 =2 175, 8 × 10 =2

260 ÷ 10 =(−1) −1 × 10 =0

207 × 10 =(−1) 539, 5 × 10 =(−4)

4 × 10 =(−3) 8 × 10 =0

844, 1 ÷ 10 =(−4) 9 × 10 =2

714, 1 × 10 =(−3) 10 =(−4)
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Negative Exponenten von 10

374, 1 × 10 = 0.03741(−4) 10 = 0.1(−1)

−3 × 10 = −30 819, 5 ÷ 10 = 8195000(−4)

328, 7 × 10 = 0.3287(−3) 121, 4 × 10 = 121402

461 ÷ 10 = 461000(−3) 547, 5 ÷ 10 = 5475(−1)

3 × 10 = 3002 175, 8 × 10 = 175802

260 ÷ 10 = 2600(−1) −1 × 10 = −10

207 × 10 = 20.7(−1) 539, 5 × 10 = 0.05395(−4)

4 × 10 = 0.004(−3) 8 × 10 = 80

844, 1 ÷ 10 = 8441000(−4) 9 × 10 = 9002

714, 1 × 10 = 0.7141(−3) 10 = 0.0001(−4)
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